Regular Eram~ 201 @ Q1513 fm,
S BAF — Sem~T o
Sub- MB - Q. P. Code: 37083

Maximum Marks: 75 Duration: 2 % hrs

Note: 1) There are 5 questions with internal choice
2) Each question carries 15 marks.
3) Suitable assumptions and working notes should form the part of your answer.
4) Figures to the right hand side indicate full marks.
5) Please check whether you have got the right question paper.

1) A)Fill in the blanks (any 8): o5 S 08)

1) Management accounting is SSai inai:urc. e

2) Use of Management accounting : 1sl ' v

3) Underwriting commission (not written oft) is class1ﬁed as-a - _asset:

4) Profit on sale of fixed asset is recorded n Vertlcal Income statement under the
head : oy :

5) Dividend payout ratio = DJVldend per share / g

6) Debt service ratio is ,also galked? " 5% ratio.

7) Cash flow statement compulsoxy for : v Qompanies.

8) Refund of income tax is cash flow from -~~~ activities.

9) Working capital reqqued at the inc eptlon of the busmess is called
working capital. - ' °

10) Business:that purchases goeds on cash basm and SBlls on credit basis will need
workmg capxtal "

B) Match the followmg (any 7) \ R, §F | 07)

Column A S

Finangial Accountmg

Management AccOuntmg ‘Cash flow from investing activities
[Goodwill-~ << Less the working capital required

“Cash flow from financing activities
‘{:Subject to audit

‘| Intangible assets

More the working capital required
1:1

Fictitious assets

Not subject to audit

| Preliminary expenses

2) A) From the followmg 1nformat10n provided to you by Ramol Ltd. prepare a
" Commonsize Balance Sheet: (15)
quilty'“Share Capltal Rs 400000, General Reserves Rs. 80000, Profit & Loss Account
dwill Rs. 100000, Land & Building Rs. 580000, Machinery Rs.
Iny énts in Govt. Securities Rs. 250000, 10% Preference Capital Rs.

> ¢ ;Debentures Rs. 200000, 12.5% Bank Loan Rs. 185000, Stock Rs.
12000 \,’Debtors Rs. 160000, Creditors Rs. 60000, Bills payable Rs. 40000, Provision

.for Tax Rs. 45000, Bills Receivable Rs. 25000, Cash Rs. 5000, Formation expenses
Rs. 15000

OR
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B) Prepare a Vertical Income statement of Rohan Ltd. from the following information
and calculate Gross Profit Ratio, Operating Ratio and Stock turnover Ratio:  (15)
Cash Sales Rs. 550000, Credit Sales Rs. 1450000, Stock on 1% April; 2015 Rs.
250000, Purchases Rs. 550000, Carriage inwards Rs. 50000, Carriage outwards Rs.
25000, Wages Rs. 140000, Advertisement Rs. 60000, Salafies Rs. 240000, Discount
allowed Rs. 10000, Dividend received Rs. 47000, , Dep:eéiéttion on office computer
Rs. 12000, Printing & Stationery Rs. 10000, Salesman commission Rs. 18000, Profit
on sale of investments Rs. 13000, Stock on 31% March 2016 Rs. 400000 Interest on
Bank Loan Rs. 100000, Provision for tax Rs. 60000 :

3) A) Following is the Balance Sheet of Rudra Lt_d.;i

Liabilities 31-03-2015 31032016 Assets 31-03-2015  31-03-2016

Proposed Dividend 30000 K 40000 Cash and Bank Balance 2 712000

473000

Total \«607000 Tofa\l

(1)

(i)  During the
(iii) Proposed
Rs. 33600

Rs.
3500
1000
1000
5500
2000
7500

BF 40%% of raw materlals requirements will be obtained from a supplier in China by
making one month advance payment. Balance suppliers allow credit of two months.

(6) Wages and Overheads are paid two months and one month in arrears respectively.

(7) Materials will be in process on an average for one and a half month.

~(8) Cash in hand and with bank should always be Rs. 50000.
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Share Capital 300000 400000 Goodwill ey 55000 50000
Profit & Loss A/c. 3000 4000 Land and Building 150000 142500
General Reserves 50000 60000 Plant & Machinery 80000 200000
Bills Payable 20000 - 18000 Inventories - Aot 2 106000 138500
Sundry Creditors 35000 -~ - - 45000 Bills Receivables ST 35000 12000

- Provision for Taxes 35000 > ;'40000 Sundry Debtors - 45000 51000
13000

607000
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You are required to forecast working capital requirement of the company for the year :
2017. : (15). o
4) A) Prepare a comparative income statement from the following: €5y N
Profit & Loss account of M/s. Abhishek Ltd.for the year ended 31% March o ©)
Particulars 2016 | 2015 Particulars 2016 | 2015 S
Rs) | (Rs.) Rs) | ®Rs)
To Opening Stock 44000 | 40000 | By Sales ‘ 190000 | 200000
To Purchases 84000 72000 | By Closing Stock 1 46000 | 44000
To Wages 40000 | 36000 | By Interest received — | 20000 | =
To Factory Expenses 32000 | 28000 | & ¥ S B g LY ¥ Iy
To Establishment fo Ty S
Expenses 8000 6000
To Management oo &
Expenses 2000 20004 .
To Selling Expenses 6000 | 10006 g 0
To Interest 6000 |- 8000 |~ <
To Loss on sale of Assets 2000:f - 2000705 5
To Provision for taxation | 22000 {24000«
“To Net profit 1000675 160001 . > &P 4 g
Total 256000:’ ;"‘24‘4600“; T ";'I?ofa-l“’ oS 256000 | 244000
B “OR ’
B) Calculate the Trend Percentage from the folloWlng 1nformat10n extracted from the
financial statements of Shaurya Tobds> 200 3
: < 2016 (o 2015 | 2014
e Rs.
Sales IRy, 9,880
Costofsales &~ = & 008 8,810
Expenses - - 50
Interest Expenses 200
450
4,770
3,290
430
Ne R 8 5,850
|(External Loans 2,640
5) A) Dlstmgulsh betweenxOWners'ﬁmd and Owed Funds. (08)
B) sttlngulsh between Debtors turnover Ratio and Creditors turnover Ratio (07)
ey N OR
- Write short notes-on (any 3): - (15)
a) Functfons of Management accountant (any 5)
“"b) Pr"; rietory Ratio
SN ,F‘orms of xpressmg ratios.
8 d) Cash flow from Financing Activities
S TS Balance Sheet working capital and Cash working capital
A o 3 3K 3k 3k %k 3k %k 3k 3k 3k %k %k %k %k Kk
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